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48 - _
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51 11,342 0.8
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53 - _
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55 - _
56 - _
57 | 11,042 0.5
58 - _
59 - _
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61 - _
62 8417 0.8
63 [f 8,189 0.6
64 554 1.1
65 - _
66 - _
67 |8 - _
G 53,110 0.7
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1t &/ & 45,920 2,551 9 0.4
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3|E F 8 15,955 1,242 - 0.0
AEE 16,335 2,305 2 0.1
5 |f B B 12,653 572 - 0.0
6 (Il iz B 12,654 1,341 1 0.1
7l B B 29,855 1,300 29 2.2
8 [% W B 32,970 3,325 1 0.0
9| K B 30,312 2,810 3 0.1
NEEN 30,870 2,281 2 0.1
1nE £ B 80,492 2,840 8 0.3
AEEN 105,940 9,669 17 0.2
13[F = & 211,525 15,793 17 0.1
14 [BE)E 70,551 3,890 19 0.5
15[ 8 8 7,164 859 1 0.1
16 L B 9,729 1,312 1 0.1
7[5 & 17,925 1,612 — 0.0
18|28 # B 11,022 713 1 0.1
RIME! 12,068 736 2 0.3
20|E & & 20,537 1,941 18 0.9
21l B 8 28,239 2,277 2 0.1
22 |8 [ B 44,981 4,598 4 0.1
23| 4 B 137,492 6,735 5 0.1
24|= 8 B 16,300 1,131 1 0.1
25 B B 23,259 1,414 - 0.0
26 ;R # Ff 16,591 1,966 3 0.2
27X BR_Ff 76,654 2,834 3 0.1
28|E E B 89,991 2,362 3 0.1
29|z B B 21,539 1,117 1 0.1
30 [F0 3x 1L 1B 13,370 1,020 1 0.1
3| BB 7,827 467 1 0.2
2|8 8 8 9,135 401 1 0.2
3@ L 8 27,852 399 — 0.0
UL B B 28,262 341 - 0.0
Bl O & 13,414 153 — 0.0
plE B B 9,198 450 - 0.0
AT 19,016 1,372 3 0.2
B|E 1 B 11,007 452 - 0.0
39[= s B 10,124 211 — 0.0
0|E 8 &8 31,071 1,238 4 0.3
MliE B8 B 5,830 324 3 0.9
R B B 26,549 441 1 0.2
43| KX B 8,263 475 — 0.0
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6 EREE 13,861 1,284 3 0.2
474 8 B 27,859 925 10 1.1
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(H7#8)
48 |1l MR - - - -
49 |l & - - - -
50 |=Lvi=F T - - - -
51| F ¥ 17,447 1,621 2 0.1
52 |1 JE T - 51 — 0.0
53 |l W - - _ _
54 |HEE R 766 766 2 0.3
55| B T - - - -
56 [Ff [ T - - - -
57l ¥ 12,962 2,268 — 0.0
8l EHET - - - =
59 [l #B - - - -
60 | K Br - 333 — 0.0
61 [3R [it] - - - -
62| F 1 25,135 659 1 0.2
63 | W 11,169 48 — 0.0
64| B 3,513 28 — 0.0
65 |t Ll 3,464 — - -
66 |12 [ ™ - - - -
67|f8 A 1 — - _ _
fEEAR T &t 74,456 5,774 5 0.1
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114 & & 30,269 112 0.4
2 18 HF B 5,390 27 0.5
3|2 F B 16,845 69 0.4
4 (B H B 10,558 44 0.4
5 (f B B 5,627 17 0.3
6 [l 2 & 11,935 27 0.2
718 B & 12,005 50 0.4
8 [ W B 25,510 132 0.5
9 [#F K B 18,358 79 0.4
0| E B 11,000 73 0.7
M| £ & 23,050 131 0.6
12|1F £ B 55,819 335 0.6
13|58 = # 91,674 613 0.7
4 |HEINE 39,335 204 0.5
15|13 B B 10,137 21 0.2
16| W B 3,417 8 0.2
17|15 )1 & 5,641 9 0.2
18|58 # B 10,344 51 0.5
191y & B 8,680 74 0.9
20K 8 B 17,097 68 0.4
21 [l B B 10,755 36 0.3
22 (3% B B 35,990 153 0.4
23| 41 B 33,630 187 0.6
24 (= & B 8,485 31 0.4
2B B B 10,959 39 0.4
26 [ # W 6,258 23 0.4
27 (X BR W 32,380 158 0.5
2|E E B 51,154 292 0.6
2 B & 3,747 12 0.3
30 [(f0Fr L IE 9,188 56 0.6
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AER:NE 2,651 14 0.5
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UL B B 11,160 63 0.6
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Bl|fE & B 4,063 29 0.7
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/(B g B 5,360 24 0.4
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40 (8 M 2 9,340 76 0.8
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2| B 2 8,181 36 0.4
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(&
48 - - -
49 - - -
50 - - -
51 11,342 97 0.9
52 1,360 11 0.8
53 - — -
54 6,644 35 0.5
55 - - -
56 - - -
57 ;& 11,471 21 0.2
58 - - -
59 - - -
60 5,563 24 0.4
61 - - -
62 8,417 44 0.5
63 8,205 23 0.3
64 554 4 0.7
65 — - -
66 - - -
67 |8 - — -
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114k B & 37 1,080 182 462
218 & & 32 3,450 43 594
3|2 F & 5 1,827 12 345
4= W B 35 1,038 21 115
5 H B 4 69 8 41
6 (L 2 B 10 158 49 296
1lfe & & 27 1,033 26 247
8 | i B 81 2,890 126 1,362
9[th K B 18 2,191 46 488
10/ E & 5 5 5 7
1M)iFx £ B - - 7 27
121F ¥ B 1 90 73 157
13[3 = & - — 252 957
14| EJI|E - — 13 35
15(F B &8 2 20 1 9
16[2 1 & 1 10 27 337
1718 _JIIl & - - 3 12
18|48 3+ & - - 49 432
19l 8 7 96 55 452
20 F & 153 2,222 31 1,019
21|y B B 48 1,052 67 363
2218 B B 16 1,441 58 209
23| %1 B - — 2 2
24|= & B - - 3 3
25| B2 B - — 723 1,254
26 |5 #R KT - - 98 98
27|K xR KF 97 2,170 118 496
28| E B 34 1,204 59 1,978
WEZ B B 10 467 24 60
30[#0 Fx 1L 1B - — 12 68
31(E B B - - — —
2185 KB B 25 1,197 45 137
33| W B 172 2,525 358 2,288
UL B B 1 76 64 251
Bl O B 3 22 3 13
| B B - — 1 1
371F LB 1 153 7 7
IEN - 3 43 59 136
|5 5 B - — 67 70
0@ FH B 88 2,492 180 382
ME 28 B 21 748 63 102
2 B B - - 5 5
43 X B 119 1,752 249 365
ulxX » B 3 40 2 40
45|= I 18 50 771 35 142
Hb|EEREER 171 4263 176 1,663
4740 # 18 17 311 118 3,227
MEFESE 1,297 36,906 3,625 20,754
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